

سؤال: إذا كانت $u_n = u_0 + n$ ، أثبت أن $\frac{u_n}{n} = \frac{u_0 + n}{n} = \frac{u_0}{n} + 1$

الحل: $\frac{u_n}{n} = \frac{u_0 + n}{n} = \frac{u_0}{n} + 1$

$\frac{u_n}{n} = \frac{u_0 + n}{n} = \frac{u_0}{n} + 1$

$\frac{\left(\frac{u_0}{n}\right)u_n + (u_0 - 1)}{n(u_0 - 1)} = \frac{\left(\frac{u_0}{n} \times u_n\right) - (1)(u_0 - 1)}{n(u_0 - 1)} = \frac{u_0 u_n}{n(u_0 - 1)}$

$\frac{1}{n(u_0 - 1)} = \frac{u_0 u_n + u_0 - 1}{n(u_0 - 1)} = \frac{u_0 + (u_0 - 1)}{u_0 - 1}$

سؤال: إذا كانت $u_n = \frac{u_0}{1 + n}$ ، أثبت أن $\frac{u_n}{n} = \frac{u_0}{n(1 + n)}$

الحل: $\frac{u_n}{n} = \frac{u_0}{n(1 + n)} = \frac{(1)u_0 - (1)(1 + n)}{n(1 + n)} = \frac{u_0 - u_0 - n}{n(1 + n)} = \frac{-n}{n(1 + n)} = -\frac{1}{1 + n}$

$\frac{u_n}{n} = \frac{u_0}{n(1 + n)}$

$(1 + n)u_n = u_0 \iff \frac{u_n}{1 + n} = \frac{u_0}{(1 + n)^2}$

$\frac{u_n}{n} = \frac{u_0}{n(1 + n)}$

سؤال: إذا كانت $u_n = \frac{u_0}{1 + n}$ ، أثبت أن $\frac{u_n}{n} = \frac{u_0}{n(1 + n)}$

الحل: $\frac{u_n}{n} = \frac{u_0}{n(1 + n)}$

مثال 5 اذا كانت $u = \cos \theta + v \sin \theta + w$ اثبت ان $\frac{u}{v} = \frac{u \cos \theta}{v \cos \theta}$

الحل $1 = (u \cos \theta + v) \frac{u \cos \theta}{v} \Leftrightarrow 1 = \frac{u \cos \theta}{v} \times u \cos \theta + \frac{u \cos \theta}{v} + 1$

$$\frac{1}{u \cos \theta} = \frac{u \cos \theta}{v} \Leftrightarrow$$

$$\frac{u \cos \theta}{v} = \frac{1}{u \cos \theta} \times u \cos \theta = \frac{u \cos \theta \times u \cos \theta - 1}{(u \cos \theta)^2} = \frac{u \cos \theta}{v}$$

مثال 6 اذا كانت $u = \cos \theta + v \sin \theta$ اثبت ان $\frac{1}{u} = \frac{u \cos \theta}{v \cos \theta}$

الحل $1 = u \cos \theta = (u \cos \theta + v \sin \theta) \cos \theta$

$1 = u \cos \theta + v \sin \theta \cos \theta$

$1 - u \cos \theta = v \sin \theta \cos \theta$

$\frac{1}{v \cos \theta} = \frac{1}{u \cos \theta} = \frac{u \cos \theta}{v \cos \theta} \Leftrightarrow \frac{u \cos \theta}{v \cos \theta} = 1$

مثال 7 اذا كانت $u = \cos \theta + v \sin \theta$ اثبت ان $\frac{1}{u} = \frac{u \cos \theta}{v \cos \theta}$

الحل $1 = u \cos \theta = (u \cos \theta + v \sin \theta) \cos \theta$

$1 = u \cos \theta + v \sin \theta \cos \theta$

$1 - u \cos \theta = v \sin \theta \cos \theta$

$\frac{1}{v \cos \theta} = \frac{1}{u \cos \theta} = \frac{u \cos \theta}{v \cos \theta} \Leftrightarrow \frac{u \cos \theta}{v \cos \theta} = 1$

$$\frac{1}{v \cos \theta} \times (u \cos \theta + v \sin \theta \cos \theta) = \frac{1}{u \cos \theta} \times u \cos \theta + \frac{1}{u \cos \theta} \times v \sin \theta \cos \theta \Leftrightarrow$$

$$\frac{1}{v \cos \theta} \times u \cos \theta = \frac{1}{u \cos \theta} \times u \cos \theta + \frac{1}{u \cos \theta} \times v \sin \theta \cos \theta \Leftrightarrow$$

$$\frac{u \cos \theta}{v \cos \theta} = \frac{u \cos \theta}{u \cos \theta} + \frac{v \sin \theta \cos \theta}{u \cos \theta} \Leftrightarrow$$

مثال: $\frac{u^2 + v^2}{u^2 - v^2} = \frac{u^2 + v^2}{u^2 - v^2}$ اذكر ان $u^2 + v^2 = u^2 + v^2$

النتيجة: $u^2 - u^2 v^2 = u^2 \iff u^2 v^2 = u^2 + v^2$

نتيجة: $\frac{u^2}{1-u^2} = u^2 \iff (1-u^2)u^2 = u^2$

$\frac{u^2 - 1 - u^2}{(1-u^2)} = u^2 \iff \frac{(1)(u^2) - (1)(1-u^2)}{(1-u^2)} = u^2$

$\frac{1 - u^2}{(1-u^2)} = u^2$

من المثال:
 $\frac{u^2}{1-u^2} = u^2$
 نتج عن:
 $\frac{u^2}{u^2} = 1-u^2$
 $\frac{u^2}{u^2} - (1-u^2)$

$\frac{u^2}{(1-u^2)} = \frac{(1-u^2)u^2}{(1-u^2)}$

$\frac{u^2 + v^2}{u^2 - v^2} = \frac{u^2 + v^2}{u^2 - v^2}$

مثال: اذا كان $\frac{u^2 + v^2}{u^2 - v^2} = \frac{u^2 + v^2}{u^2 - v^2}$ اذكر ان $\frac{u^2 + v^2}{u^2 - v^2} = \frac{u^2 + v^2}{u^2 - v^2}$

النتيجة: $\frac{u^2 + v^2}{u^2 - v^2} = \frac{u^2 + v^2}{u^2 - v^2}$

$\frac{u^2 + v^2}{u^2 - v^2} = \frac{u^2 + v^2}{u^2 - v^2}$

نتيجة: $\frac{u^2 + v^2}{u^2 - v^2} = \frac{u^2 + v^2}{u^2 - v^2}$

النتيجة: $\frac{u^2 + v^2}{u^2 - v^2} = \frac{u^2 + v^2}{u^2 - v^2}$

$\frac{u^2 + v^2}{u^2 - v^2} = \frac{u^2 + v^2}{u^2 - v^2}$

$\frac{u^2 + v^2}{u^2 - v^2} = \frac{u^2 + v^2}{u^2 - v^2}$

$\frac{u^2 + v^2}{u^2 - v^2} = \frac{u^2 + v^2}{u^2 - v^2}$

مثال 2: اذا كانت جتا ص = جاس أثبت ان: $\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$

الحل: نكتب $\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$ ونقسم على (جتا ص - جتا ص)

$$\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta} \Rightarrow \frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$$

$$\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta} \Rightarrow \frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$$

$$\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta} \Rightarrow \frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$$

$$\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta} \Rightarrow \frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$$

$$\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta} \Rightarrow \frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$$

مثال 3: س = جتا ص اثبت ان: $\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$

الحل: اذا كانت $\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$ اثبت ان $\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$

$$\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta} \Rightarrow \frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$$

$$\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta} \Rightarrow \frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$$

$$\frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta} \Rightarrow \frac{\sin^2 \theta}{1 - \cos^2 \theta} = \frac{\sin^2 \theta}{1 - \cos^2 \theta}$$

$$\frac{1}{\sin^2 \theta} \times \left(\frac{\sin^2 \theta}{1 - \cos^2 \theta} + \frac{1}{\cos^2 \theta} \right) = \frac{1}{\sin^2 \theta} \times \left(\frac{\sin^2 \theta}{1 - \cos^2 \theta} + \frac{1}{\cos^2 \theta} \right) =$$

$$\frac{1}{\sin^2 \theta} = \frac{1}{\sin^2 \theta} = \frac{1}{\sin^2 \theta} \times \frac{\sin^2 \theta}{\sin^2 \theta} = \frac{1}{\sin^2 \theta}$$

